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BFlute: (& +4) X (F +4) X (31 + 6) Die Cutting AR} ZHA éﬁ%’}—g—&
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HARFAARQE =1 X 0.7 =0.7m?

WHERARE SEANL2QHE ASA
(1,000mm + 15mm + 15mm) X (700mm + 15mm +
15mm+ &84 25mm) = 1,030 X 755 — 1,030 X
800 = 0.83m?
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EV R 0211 (o) 0.400 (&)
XNEER~) | kg 0.061 0107
CN =
e kg 0.01132 0.0226
JATE | kg 0.00044 0.00083
R kg 0.00040 0.00080
BE kg 0,003 0.0035
SRDPE | ome| 001433 0.01433
mEAL | kg 0.0018 0.0021
PPUIE | kg 0.0015 0.0021
J|EH
oz L 0.0239 0.0268
e wh 0.0422 0.0539
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3, glol B FHX]O] 82 SW = 100/91, DW

= 100/90%.

4, Z(X)BS AF=16, BF=14, CF=15 EF=12
[e]]
.

5. 3F X

SW =KA210 X SI20(AF) X KA210

124 1

() 0.210 kg/m? X 20 X 100/91 = 0.462 kg/m?
(b) 0.120 kg/m? X 1.6(AF) X 100/91 =
0.211kg/m?
DW = KA210 X S120(BF) X K200 X S120(AF)
X K200
) 0.210 kg/m? X 100/90 = 0.233 kg/m?
d) 0.200 kg/m? X 20| X 100/90 = 0,444 kg/m?
=0+®
0120 kg/m? X L6(AF) X 100/90 = 0.213kg/m?
@010 ke/m? X 14BF X 100/% = 0.187kg/m?

(m? 71Z

EI[E] kg 0.462 (a) 0.444 ()
Eany kg 0211 b) 0.400 (&)
XESHM(A) | kg 0.061 0107
L
HE kg 001132 00226
It AL kg 0.00044 0.00088
A kg 0.00040 0.00080
HE L 0.0139 0.0235
e kwh | 0.0295 0.0412




